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Inequalities

Express each of the following statements as an inequality.
a) The maximum value of y is 25.

b) The value of x is not smaller than that of y.

¢) Nicolas’ age a is greater than 4 years old.

d) The sum of g and 2 is less than or equal to 13.

e) Two times d minus 5 is greater than e.

f) The maximum speed s allowed on a highway is 100 km/h.

Match each expression in the left column with its corresponding interval in the right column.
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Solve the following inequalities.

Express your answer as an interval.
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Use an inequality to represent each of the following solution sets.
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Solve the following inequalities. Express the solution sets usin,
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